
GRADE 2 USS  WASHER GRADE 2 USS  WASHER

PLAIN STEEL, 5 LBS./BOX PLAIN STEEL, 5 LBS./BOX

(cont.)

Part number Description Pack Part number Description Pack

CAU03        3/16               5 CAU16        1                  5

CAU04        1/4                 5 CAU18        1 1/8               5

CAU05        5/16              5 CAU20        1 1/4                5

CAU06        3/8                5 CAU22        1 3/8                 5

CAU07        7/16               5 CAU24        1 1/2                5

CAU08        1/2                5 CAU26        1 5/8                 5

CAU09        9/16                5 CAU28        1 3/4               5

CAU10        5/8                 5 CAU32        2                  5

CAU12        3/4                 5

CAU14        7/8                 5

GRADE 2 USS  WASHER GRADE 2 USS  WASHER

 ZINC PLATED  ZINC PLATED, MADE IN THE USA

(cont.)

Part number Description Pack Part number Description Pack

CCR04        1/4                100 CBU03        3/16                100

CCR05        5/16                   100 CBU04        1/4                100

CCR05MC      5/16               100 CBU05        5/16               100

CCR06        3/8                100 CBU06        3/8                 100

CCR0650      3/8                50 CBU07        7/16                100

CCR07        7/16               100 CBU08        1/2                100

CCR08        1/2                100 CBU09        9/16                50

CCR09        9/16                50 CBU10        5/8                 50

CCR09T       9/16 50 CBU12        3/4                 50

CCR10        5/8                  50 CBU14        7/8                 25

CCR12        3/4                 50 CBU16        1                 25

CCR14        7/8                 25 CBU18        1 1/8               25

CCR16        1                  25 CBU20        1 1/4              25

CBU22        1 3/8               25

CBU24        1 1/2               25

GRADE 2 SAE FLAT WASHER CBU26        1 5/8              25

ZINC PLATED CBU28        1 3/4               25

CBU30        1 7/8              25

Part number Description Pack CBU32        2                  10

CCT03        #10               100 CBU36        2 1/4              10

CCT03BM      #10               21750 CBU40        2 1/2               10

CCT04        1/4                 100 CBU48        3                 10

CCT05        5/16                100

CCT06        3/8                 100

CCT066       #6                  100 GRADE 2 USS  WASHER

CCT07        7/16               100  ZINC PLATED

CCT08        1/2                 100

CCT09        9/16                50 Part number Description Pack

CCT09T       9/16         50 CCR03        3/16                100

CC        5/8                 50 GRADE 2 USS FLAT WASHER



CCT12        3/4                 50 PLAIN STEEL

CCT12Q20     3/4                20

CCT14        7/8                 25 Part number Description Pack

CCT14Q15     7/8                15 HLD03        3/16              100

CCT16        1                  25 HLD04        1/4                100

CCT88        #8                  100 HLD05        5/16                100

CCT88MS      #8 MACH SCREW       100 HLD06        3/8                 100

HLD07        7/16              100

HLD08        1/2                 100

HLD09        9/16               50

HLD10        5/8               50

HLD12        3/4                 50

HLD14        7/8               25

GRADE 2 USS FLAT WASHER HLD16        1                 25

 ZINC PLATED-1 LB. AND 5 LB. BOXES HLD18        1 1/8               25

(cont.) HLD20        1 1/4               25

Part number Description Pack HLD22        1 3/8             25

HMD09#1      9/16                1 HLD24        1 1/2             25

HMD10        5/8                5 HLD26        1 5/8              25

HMD10#1      5/8                 1 HLD28        1 3/4               25

HMD12        3/4               5 HLD30        1 7/8               25

HMD12#1      3/4              1 HLD32        2                 10

HMD14        7/8                 5 HLD36        2 1/4              10

HMD14#1      7/8                1 HLD40        2 1/2               10

HMD16        1                  5 HLD48        3                10

HMD16#1      1                  1

HMD18        1 1/8                5

HMD20        1 1/4                5 GRADE 2 USS FLAT WASHER

HMD22        1 3/8               5  ZINC PLATED-1 LB. AND 5 LB. BOXES

HMD24        1 1/2                  5

HMD26        1 5/8              5 Part number Description Pack

HMD28        1 3/4              5 HMD03        3/16                5

HMD32        2                 5 HMD03#1      3/16        1

HMD36        2 1/4               5 HMD04        1/4                 5

HMD40        2 1/2              5 HMD04#1      1/4    1

HMD48        3                  5 HMD04MC      1/4  5

HMD05        5/16             5

HMD05#1      5/16                1

GRADE 2 SAE FLAT WASHER HMD06        3/8               5

ZINC PLATED, MADE IN THE USA HMD06#1      3/8               1

HMD06MC      3/8  5

Part number Description Pack HMD07        7/16                5

CBS021       #12                100 HMD07#1      7/16                1

CBS022       #2                 100 HMD08        1/2               5

CBS03        #10                 100 HMD08#1      1/2                1

CBS03MC      #10                 100 HMD09        9/16             5

CBS03MCMP    #10                 20000 GRADE 2 SAE FLAT WASHER

CBS033       #3                 100 ZINC PLATED, MADE IN THE USA



CBS04        1/4                 100 (cont.)

CBS044       #4                  100 Part number Description Pack

CBS05        5/16                100 CBS12        3/4                 50

CBS055       #5                 100 CBS14        7/8                25

CBS06        3/8                 100 CBS16        1                  25

CBS066       #6                  100 CBS18        1 1/8               25

CBS07        7/16               100 CBS20        1 1/4               25

CBS08        1/2                 100 CBS22        1 3/8               25

CBS088       #8                 100 CBS24        1 1/2               25

CBS088C5     #8                  500

CBS09        9/16                50

CBS10        5/8                 50 SAE FLAT WASHER

GRADE 2 SAE  WASHER PLAIN STEEL

Zinc Plated

(cont.) Part number Description Pack

Part number Description Pack HND03        #10                   100

HPD03        #10                 1 HND033       #3                     100

HPD03MS      #10 MACH SCR WASH.     1 HND04        1/4                100

HPD04        1/4                 1 HND044       #4                 100

HPD04MS      1/4 MACH SCR WASH.  1 HND05        5/16                  100

HPD05        5/16               1 HND055       #5                 1

HPD05MS      5/16 MACH SCR WASH. 1 HND06        3/8                 100

HPD06        3/8               1 HND07        7/16                100

HPD06MS      3/8 MACH SCR WASH.  1 HND08        1/2                    100

HPD07        7/16               1 HND08Q50     1/2            50

HPD08        1/2                 1 HND09        9/16               50

HPD09        9/16                1 HND10        5/8               50

HPD10        5/8                1 HND12        3/4                 50

HPD12        3/4                1 HND14        7/8                25

HPD14        7/8                 1 HND16        1                  25

HPD16        1                   1 HND18        1 1/8              25

HPD18        1 1/8              1 HND20        1 1/4              25

HPD20        1 1/4               1 HND21        #12                 100

HPD21        #12                    1 HND22        1 3/8               25

HPD21MS      #12 MACH SCR WASH.  1 HND24        1 1/2                25

HPD22        1 3/8               1 HND66        #6                  100

HPD24        1 1/2                1 HND88        #8                  100

HPD44        #4                    1

HPD44MS      #4 MACHINE SCR WASH. 1

HPD55        #5                  1 GRADE 2 SAE  WASHER

HPD66        #6                  1 Zinc Plated

HPD66MS      #6 MACHINE SCR WASH.   1

HPD88        #8                1 Part number Description Pack

HPD88MS      #8 MACHINE SCR WASH.  1 HPD022       #2                   1

HPD022MS     #2 MACHINE SCR WASH. 1

GRADE 2 FENDER WASHER

GRADE 2 FENDER WASHER ZINC PLATED

ZINC PLATED (cont.)



Part number Description Pack

Part number Description Pack AZA04064     1/4 X 2             100

AZA0218      1/8 X 9/16                   100 AZA05040     5/16 X 1 1/4       100

AZA03024     3/16 X 3/4          100 AZA05048     5/16 X 1 1/2                 100

AZA03032     3/16 X 1                    100 AZA05048X    5/16 X 1 1/2 X 1/8  100

AZA03040     3/16 X 1 1/4               100 AZA06032     3/8 X 1            100

AZA04018     1/4 X 9/16 OD (H6)             100 AZA06032MC   3/8 X 1            100

AZA04032     1/4 X 1             100 AZA06040     3/8 X 1 1/4                    100

AZA04040     1/4 X 1 1/4         100 AZA06048     3/8 X 1 1/2         100

AZA04040THK  1/4 X 1 1/4 X 1/8            100 AZA06048THK  3/8 X 1 1/2 X 1/8   100

AZA04048     1/4 X 1 1/2                    100 AZA06052     3/8 X 1 5/8                   100

GRADE 2 FENDER WASHER (THICK GAUGE) AZA06064     3/8 X 2            100

ZINC PLATED AZA08048     1/2 X 1 1/2                50

AZA08064     1/2 X 2             50

Part number Description Pack AZA08064C    1/2 X 2             100

BYN03032     3/16 X 1           100 AZA08064THK  1/2 X 2 X 1/8 THK   50

BYN03040     3/16 X 1 1/4        100 AZA08064THKBM 1/2 X 2 X 1/8 THK             500

BYN04032     1/4 X 1           100 AZA08064THKG 1/2 X 2 X 1/8  H.D.GALV      50

BYN04040     1/4 X 1 1/4        100

BYN04048     1/4 X 1 1/2         100

BYN05040     5/16 X 1 1/4       100

BYN05048     5/16 X 1 1/2        100

BYN06040     3/8 X 1 1/4         100

BYN06048     3/8 X 1 1/2         100

BYN08064     1/2 X 2            50

USS HARDENED FLAT WASHER

ZINC YELLOW (ANSI B18.22.1, TYPE A, WIDE)

Part number Description Pack

BBA03        3/16                100

BBA04        1/4                100

BBA05        5/16                100

BBA06        3/8                 100

BBA07        7/16                100

BBA08        1/2                 100

BBA08MC      1/2     25

BBA09        9/16               50

BBA10        5/8                50

BBA12        3/4                50

BBA12Q20     3/4                20

BBA14        7/8                 25

BBA16        1                 25

BBA18        1 1/8              25 GRADE 8 USS FLAT WASHER

BBA20        1 1/4               25 ZINC YELLOW HARDENED STEEL,

BBA24        1 1/2               25 EXTRA THICK GAUGE

Part number Description Pack



BYP09        9/16-.132      50

GRADE 8 USS FLAT WASHER BYP10        5/8-.146        50

ZINC YELLOW HARDENED STEEL, BYP12        3/4-.146       50

EXTRA THICK GAUGE BYP14        7/8-.146       25

Part number Description Pack BYP16        1-.146       25

BYP04        1/4 - .072    100

BYP05        5/16-.086      100

BYP06        3/8-.086      100 USS HARDENED FLAT WASHER

BYP07        7/16-.098      100 PLAIN STEEL (ANSI B18.22.1. TYPE A, WIDE)

BYP08        1/2-.132     100

SAE MEGA THICK FLAT WASHER Part number Description Pack

ZINC YELLOW HARDENED STEEL CDD04        1/4                100

CDD05        5/16              100

Part number Description Pack CDD06        3/8                  100

MEG04        1/4  .090/.110 50 CDD07        7/16                100

MEG05        5/16  .090/.110 50 CDD08        1/2                  100

MEG06        3/8  .110/.126 50 CDD09        9/16                50

MEG06BM      3/8   .110/.126 1 CDD10        5/8                50

MEG07        7/16  .110/.126 50 CDD12        3/4                50

MEG08        1/2  .156/.188 50 CDD14        7/8                25

MEG09        9/16  .156/.188 50 CDD16        1                  25

MEG10        5/8  .170/.195 25

MEG12        3/4  .170/.195 25

MEG14        7/8  .235/.265 25 USS MEGA THICK  FLAT WASHER

MEG16        1  .235/.265  25 ZINC YELLOW HARDENED STEEL

MEG18        1 1/8  .286/.340 20

MEG20        1 1/4  .286/.340 20 Part number Description Pack

MEG20BM      1 1/4  .286/.340 150 FAT04        1/4  .090/.110 50

MEG24        1 1/2  .286/.340 15 FAT05        5/16  .090/.110  50

FAT06        3/8 .110/.126 50

FAT07        7/16  .110/.126 50

A325 STRTURAL FLAT WASHER FAT08        1/2  .156/.188 50

PLAIN STEEL, F436/A325/A490 FAT09        9/16  .156/.188  50

FAT10      5/8  .170/.195 25

Part number Description Pack FAT12        3/4  .170/.195 25

BAA04        1/4                100 FAT14        7/8  .235/.265 20

BAA05        5/16                100 FAT16        1  .235/.265 20

BAA06        3/8               100 FAT18        1 1/8  .286/.336 15

BAA07        7/16                100 FAT20        1 1/4  .286/.336  15

BAA08        1/2                 100 FAT24        1 1/2  .286/.336  15

BAA09        9/16                50

BAA10        5/8                50

BAA12        3/4                50

BAA14        7/8                25 A325 STRTURAL FLAT WASHER

BAA16        1                 25 HOT DIP GALVANIZED, F436/A325/A490

BAA18        1 1/8              25

BAA20        1 1/4              25 Part number Description Pack

BAA22        1 3/8              25 ASK08        1/2                 100



BAA24        1 1/2               25 ASK10        5/8                 50

BAA28        1 3/4              25 ASK12        3/4                50

BAA32        2                  10 ASK14        7/8                 25

ASK16        1                 25

ASK20        1 1/4               25

GRADE 8 SAE FLAT WASHER

ZINC YELLOW HARDENED STEEL,

EXTRA THICK GAUGE

GRADE 8 SAE FLAT WASHER Part number Description Pack

ZINC YELLOW (ANSI B18.22.1, BYR04        1/4-.072 100

TYPE A, NARROW) BYR05        5/16-.086   100

Part number Description Pack BYR06        3/8-.086 100

HGD14        7/8                25 BYR07        7/16-.098    100

HGD14BM      7/8                695 BYR08        1/2-.132       100

HGD16        1                 25 BYR09        9/16-.132      50

HGD16BM      1                  555 BYR10        5/8-.146        50

HGD18        1 1/8              25 BYR12        3/4-.146        50

HGD20        1 1/4              25 BYR14        7/8-.146       25

HGD20BM      1 1/4              350 BYR16        1-.146       25

HGD22        1 3/8               25

HGD24        1 1/2              25

HGD28        1 3/4               25 GRADE 8 SAE FLAT WASHER

HGD32        2                 10 ZINC YELLOW (ANSI B18.22.1,

TYPE A, NARROW)

Part number Description Pack

GRADE 2 USS FLAT WASHER HGD04        1/4                100

HOT DIP GALVANIZED HGD04BM      1/4                10000

HGD05        5/16               100

Part number Description Pack HGD05BM      5/16                10000

ANP04        1/4               100 HGD06        3/8                100

ANP04#5      1/4  5# PAK         5 HGD06BM      3/8                 7000

ANP04#50     1/4 50# CTN        50 HGD06MC      3/8               50

ANP05        5/16                100 HGD07        7/16               100

ANP05#5      5/16  5# PAK        5 HGD08        1/2                100

ANP05#50     5/16 50# CTN       50 HGD08BM      1/2                2425

ANP06        3/8                 100 HGD09        9/16                50

ANP06#5      3/8  5# PAK         5 HGD10        5/8                50

ANP06#50     3/8  50# CTN        50 HGD10BM      5/8                1340

ANP07        7/16               100 HGD10MC      5/8                 25

ANP08        1/2                100 HGD12        3/4                  50

ANP08#5      1/2  5# PAK         5 HGD12BM      3/4                 1120

ANP08#50     1/2  50# CTN        50 GRADE 2 USS FLAT WASHER

ANP10        5/8                50 HOT DIP GALVANIZED

ANP10#5      5/8  5# PAK         5 (cont.)

ANP10#50     5/8  50# CTN       50 Part number Description Pack

ANP12        3/4                50 ANP22        1 3/8               25

ANP12#5      3/4  5# PAK         5 ANP24        1 1/2              25



ANP12#50     3/4  50# CTN       50

ANP14        7/8                 25

ANP14#5      7/8  5# PAK         5 SQUARE PLATE WASHER

ANP16        1                  25 HOT DIP GALVANIZED

ANP16#5      1   5# PAK         5

ANP16#50     1 50# CTN         50 Part number Description Pack

ANP18        1 1/8              25 BMN08        1/2 X 2 X 1/8 25

ANP20        1 1/4              25 BMN10        5/8 X 2 X 1/8  25

REGULAR SPLIT LOCK WASHER BMN10056096  5/8X1 3/4X3X3/16 25

ZINC PLATED BMN10072     5/8 X 2 1/4 X 3/16  25

(cont.) BMN12        3/4 X 2 1/4 X 3/16     25

Part number Description Pack BMN12096     3/4 X 3 X 1/4      25

BCA20SPPK    1 1/4               100 BMN14        7/8 X 3 X 3/16 25

BCA21        #12                    500 BMN16        1ID X 3 1/2  3/8 10

BCA22        #2                     500

BCA23        1 3/8               25

BCA24        1 1/2               25 REGULAR SPLIT LOCK WASHER

BCA28        1 3/4               10 ZINC PLATED

BCA32        2                 10

BCA33        #3                     500 Part number Description Pack

BCA44        #4                     500 BCA03        #10                    500

BCA55        #5                     500 BCA04        1/4                    500

BCA66        #6                     500 BCA05        5/16                   500

BCA88        #8                     500 BCA06        3/8                    500

BCA09C       9/16                100 BCA06HVY     3/8  HVY PATTERN       500

BCA10C       5/8                 100 BCA07        7/16                   250

BCA21C       #12                  100 BCA08        1/2                    250

BCA66C       #6                   100 BCA08HVY     1/2 HEAVY PATTERN   200

BCA88C       #8                   100 BCA08Q50     1/2                    50

BCA09        9/16                   200

BCA10        5/8                    200

REGULAR SPLIT LOCK WASHER BCA10HVY     5/8 HEAVY PATTERN   100

ZINC YELLOW, HIGH STRENGTH ALLOY STEEL BCA12        3/4                  100

BCA12HVY     3/4 HEAVY         100

Part number Description Pack BCA14        7/8                50

BXJ04        1/4                200 BCA14H       7/8 HVY             50

BXJ04C       1/4                100 BCA14Q15     7/8                 15

BXJ05        5/16               200 BCA16        1                 50

BXJ05C       5/16               100 BCA16HVY     1 HVY PATTERN     50

BXJ06        3/8                200 BCA18        1 1/8              25

BXJ06C       3/8                100 BCA20        1 1/4              25

BXJ07        7/16              100 REGULAR SPLIT LOCK WASHER

BXJ08        1/2                100 PLAIN STEEL

BXJ09        9/16               100

BXJ10        5/8                100 Part number Description Pack

BXJ10Q25     5/8                 25 BDA03        #10                    500

BXJ12        3/4                50 BDA04        1/4                 500

BXJ14        7/8                25 BDA04C       1/4                 100



BXJ16        1                  25 BDA05        5/16                500

BXJ20        1 1/4              15 BDA05C       5/16                  100

BDA06        3/8                500

BDA06C       3/8                    100

BDA07        7/16                 250

BDA07C       7/16              100

BDA08        1/2                 250

REGULAR SPLIT LOCK WASHER BDA09        9/16                200

HOT DIP GALVANIZED BDA10        5/8                   200

(cont.) BDA12        3/4                 100

Part number Description Pack BDA14        7/8                50

ANR14        7/8                  25 BDA16        1                50

ANR16        1                  25 BDA18        1 1/8               25

ANR18        1 1/8                25 BDA20        1 1/4              25

ANR20        1 1/4                25 BDA21        #12                    500

ANR22        1 3/8                25 BDA22        #2                     1

ANR24        1 1/2                25 BDA23        1 3/8                 25

BDA24        1 1/2                 25

BDA28        1 3/4               10

HI-COLLAR SPLIT LOCK WASHER BDA32        2                 10

PLAIN STEEL BDA33        #3                 1

BDA36        2 1/4               10

Part number Description Pack BDA40        2 1/2                  10

BEA03        #10                     100 BDA44        #4                     500

BEA04        1/4                      100 BDA55        #5                     1

BEA05        5/16                     100 BDA66        #6                     500

BEA06        3/8                      100 BDA88        #8                     500

BEA07        7/16                     100

BEA08        1/2                     100

BEA09X       9/16                     100 REGULAR SPLIT LOCK WASHER

BEA10        5/8                     50 HOT DIP GALVANIZED

BEA12        3/4                     50

BEA14        7/8                    50 Part number Description Pack

BEA16        1                  50 ANR04        1/4                  100

BEA18        1 1/8                    50 ANR05        5/16                100

BEA20X       1 1/4                   25 ANR06        3/8                100

BEA21X       #12                     100 ANR07        7/16                 100

BEA24X       1 1/2                   25 ANR08        1/2                 100

BEA66        #6                      100 ANR10        5/8                  50

BEA88        #8                      100 ANR12        3/4                 50

HI-COLLAR SPLIT LOCK WASHER

ZINC PLATED

HI-COLLAR SPLIT LOCK WASHER (cont.)

ZINC PLATED Part number Description Pack

DXD12        3/4                     50

Part number Description Pack DXD14        7/8                50

DXD03        #10                      100 DXD16        1                50

DXD04        1/4                     100 DXD18        1 1/8               50



DXD05        5/16                     100 DXD21X       #12                      100

DXD06        3/8                     100 DXD55X       #5                       100

DXD07        7/16                     100 DXD66        #6                       100

DXD08        1/2                      100 DXD88        #8                       100

DXD09X       9/16                    100

DXD10        5/8                     50

INTERNAL TOOTH LOCKWASHER LOCK SET WASHER-PAIRS

ZINC PLATED ZINC DICHROMATE

(cont.)

Part number Description Pack Part number Description Pack

BFA09        9/16               50 ATM03        #10                  100

BFA10        5/8                        50 ATM04        1/4                 50

BFA12        3/4                     50 ATM05        5/16                50

BFA14        7/8                    50 ATM06        3/8                 50

BFA16        1               25 ATM07        7/16               50

BFA16YZ      1                  25 ATM08        1/2                  50

BFA18        1 1/8                     25 ATM09        9/16               25

BFA20        1 1/4                     25 ATM10        5/8                 25

BFA21        #12                         100 ATM12        3/4                25

BFA22        #2                          100 ATM14        7/8                 25

BFA33        #3                          100 ATM16        1                  25

BFA44        #4                          100 ATM18        1 1/8             10

BFA55        #5                          100 ATM20        1 1/4            10

BFA66        #6                          100 ATM22        1 3/8             10

BFA88        #8                          100 ATM24        1 1/2            10

ATM66        #6                   100

EXTERNAL TOOTH LOCKWASHER ATM88        #8                   100

ZINC PLATED

Part number Description Pack INTERNAL TOOTH LOCKWASHER

BGA03        #10                      100 ZINC PLATED

BGA04        1/4                       100

BGA05        5/16                      100 Part number Description Pack

BGA06        3/8                       100 BFA03        #10                         100

BGA06BM      3/8                20000 BFA04        1/4                      100

BGA07        7/16                       100 BFA05        5/16                       100

BGA08        1/2                        100 BFA06        3/8                        100

BGA09        9/16                      50 BFA07        7/16                     100

BGA10        5/8                         50 BFA08        1/2               100

BGA12        3/4                       50 EXTERNAL TOOTH LOCKWASHER

BGA14        7/8                         50 ZINC PLATED

BGA16        1                  25

BGA21        #12                      100 Part number Description Pack

BGA22        #2                       100 BHA03        #10                   100

BGA33        #3                       100 BHA04        1/4                 100

BGA44        #4                       100 BHA05        5/16                100

BGA55        #5                       100 BHA06        3/8                  100

BGA66        #6                       100 BHA07        7/16                  100



BGA88        #8                       100 BHA08        1/2                   100

BHA10        5/8                    50

BHA12        3/4                     50

BHA21        #12                   100

BHA44        #4                    100

MALLEABLE BEVEL WASHER BHA66        #6                    100

PLAIN FINISH BHA88        #8                    100

Part number Description Pack

CKA04        1/4                       25 EXTERNAL TOOTH LOCKWASHER

CKA04C       1/4                       100 COUNTERSUNK- ZINC PLATED

CKA05        5/16                      25

CKA05C       5/16                      100 Part number Description Pack

CKA06        3/8                       25 BJA03        #10                    100

CKA08        1/2                      25 BJA04        1/4                    100

CKA10        5/8                       25 BJA05        5/16                  100

CKA12        3/4                      25 BJA06        3/8                   100

CKA14        7/8                      25 BJA08        1/2                    100

CKA16        1                        25 BJA21        #12                  100

CKA18        1 1/8               25 BJA66        #6                     100

CKA20        1 1/4                    25 BJA88        #8                     100

CKA24X       1 1/2                     25

MALLEABLE BEVEL WASHER HARDENED BEVEL WASHER

HOT DIP GALVANIZED F436/A325/A490

Part number Description Pack Part number Description Pack

CLA04        1/4                       25 CJA08        1/2                     25

CLA05        5/16                      25 CJA10        5/8                     25

CLA06        3/8                       25 CJA12        3/4                     25

CLA08        1/2                       25 CJA14        7/8                     25

CLA10        5/8                       25 CJA16        1                  25

CLA12        3/4                       25

CLA14        7/8                       25

CLA16        1                       25

CLA18        1 1/8                     25

CLA20        1 1/4                     25

REGULAR MACHINERY BUSHING 

REGULAR MACHINERY BUSHING 18 GA-PLAIN FINISH

18 GA-PLAIN FINISH (cont.)

Part number Description Pack

Part number Description Pack BZA36024     2 1/4 X 1 1/2         25

BZA14008     7/8 X 1/2             100 BZA40028     2 1/2 X 1 3/4         25

BZA15009     15/16 X 9/16          100

BZA16010     1 X 5/8               100

BZA20012     1 1/4 X 3/4           50 REGULAR MACHINERY BUSHING

BZA22014     1 3/8 X 7/8           50 14 GA-PLAIN FINISH



BZA24016     1 1/2 X 1             50

BZA28018     1 3/4 X 1 1/8         50 Part number Description Pack

BZA30020     1 7/8 X 1 1/4         50 CAA14008     7/8 X 1/2             100

BZA34022     2 1/8 X 1 3/8         25 CAA15009     15/16 X 9/16          100

REGULAR MACHINERY BUSHING CAA16010     1 X 5/8               50

10 GA-PLAIN FINISH CAA20012     1 1/4 X 3/4           50

CAA22014     1 3/8 X 7/8           50

Part number Description Pack CAA24016     1 1/2 X 1             50

CBA50034     3 1/8 X 2 1/8         25 CAA28018     1 3/4 X 1 1/8         50

CBA52036     3 1/4 X 2 1/4         25 CAA30020     1 7/8 X 1 1/4         25

CBA54038     3 3/8 X 2 3/8         25 CAA34022     2 1/8 X 1 3/8         25

CBA56040     3 1/2 X 2 1/2         25 CAA36024     2 1/4 X 1 1/2         25

CAA38026     2 3/8 X 1 5/8         25

CAA40028     2 1/2 X 1 3/4         25

REGULAR MACHINERY BUSHING CAA46030     2 7/8 X 1 7/8         25

3/16 THICK-PLAIN FINISH CAA48032     3 X 2                 25

CAA50034     3 1/8 X 2 1/8         25

Part number Description Pack CAA52036     3 1/4 X 2 1/4         25

CCA56040     3 1/2 X 2 1/2       25 CAA54038     3 3/8 X 2 3/8         25

CAA56040     3 1/2 X 2 1/2         25

WIDE MACHINERY BUSHING

18 GA-PLAIN FINISH

REGULAR MACHINERY BUSHING

Part number Description Pack 10 GA-PLAIN FINISH

CDA20010     1 1/4 X 5/8         50

CDA24012     1 1/2 X 3/4         50 Part number Description Pack

CDA32016     2 X 1               25 CBA20012     1 1/4 X 3/4           50

CDA36020     2 1/4 X 1 1/4       25 CBA22014     1 3/8 X 7/8           50

CDA50026     3 1/8 X 1 5/8       25 CBA24016     1 1/2 X 1             50

CDA52028     3 1/4 X 1 3/4       25 CBA28018     1 3/4 X 1 1/8         50

CDA56032     3 1/2 X 2           25 CBA30020     1 7/8 X 1 1/4         50

CDA60036     3 3/4 X 2 1/4       25 CBA34022     2 1/8 X 1 3/8         25

CDA62040     3 7/8 X 2 1/2       25 CBA36024     2 1/4 X 1 1/2         25

CDA64044     4 X 2 3/4           10 CBA38026     2 3/8 X 1 5/8         25

CBA40028     2 1/2 X 1 3/4         25

WIDE MACHINERY BUSHING CBA46030     2 7/8 X 1 7/8         25

14 GA-PLAIN FINISH CBA48032     3 X 2                 25

WIDE MACHINERY BUSHING

Part number Description Pack 14 GA-PLAIN FINISH

CEA20010     1 1/4 X 5/8         50 (cont.)

CEA24012     1 1/2 X 3/4         50 Part number Description Pack

CEA28014     1 3/4 X 7/8         50 CEA64044     4 X 2 3/4           10

CEA30015     1 7/8 X 15/16       50

CEA32016     2 X 1               25

CEA34018     2 1/8 X 1 1/8       25 WIDE MACHINERY BUSHING

CEA36020     2 1/4 X 1 1/4       25 10 GA-PLAIN FINISH

CEA40022     2 1/2 X 1 3/8       25

CEA48024     3 X 1 1/2           25 Part number Description Pack



CEA52028     3 1/4 X 1 3/4       25 CFA24012     1 1/2 X 3/4          50

CEA56032     3 1/2 X 2           25 CFA32016     2 X 1                25

CEA62040     3 7/8 X 2 1/2       25 CFA34018     2 1/8 X 1 1/8        25

COUNTERSUNK FINISHING WASHER CFA40022     2 1/2 X 1 3/8        25

NICKEL PLATED STEEL CFA48024     3 X 1 1/2            25

(cont.) CFA50026     3 1/8 X 1 5/8        25

Part number Description Pack CFA52028     3 1/4 X 1 3/4        25

APH66        #6                  100 CFA54030     3 3/8 X 1 7/8        25

APH88        #8                  100 CFA56032     3 1/2 X 2            25

CFA62040     3 7/8 X 2 1/2        25

CFA64044     4 X 2 3/4            10

COUNTERSUNK FINISHING WASHER CFA68048     4 1/4 X 3            10

ZINC PLATED STEEL

Part number Description Pack COUNTERSUNK FINISHING WASHER

CGS04        #14                    100 NICKEL PLATED 

CGS21        #12                    100

CGS66        #6                     100 Part number Description Pack

DKD03        #10                 100

DKD04        1/4                  100

T-SLOT THICK BOTTOM WASHER DKD04BRS     1/4 ( ONLY)    100

HEAT-TREATED-BLACK FINISH DKD05        5/16                100

DKD21        #12                 100

Part number Description Pack DKD44        #4                  100

JGD04        1/4 X 5/8 X 1/8          50 DKD66        #6                  100

JGD05        5/16 X 3/4 X 1/8         50 DKD88        #8                  100

JGD06        3/8 X 7/8 X 1/8          50

JGD08        1/2 X 1 X 3/16           25

JGD10        5/8 X 1 1/4 X 1/4        25 COUNTERSUNK FINISHING WASHER

JGD12        3/4 X 1 1/2 X 1/4        25 NICKEL PLATED STEEL

JGD14        7/8 X 1 3/4 X 1/4        25

JGD16        1 X 2 X 5/16             25 Part number Description Pack

JGD18        1 1/8 X 2 1/4 X 5/16     10 APH03        #10                 100

JGD20        1 1/4 X 2 1/4 X 5/16     10 APH04        1/4                 100

APH05        5/16                 100

APH21        #12                   100

SAE FLAT WASHER
USS FLAT WASHER 304 STAINLESS STEEL
304 STAINLESS STEEL (cont.)

Part number Description Pack

Part number Description Pack CDS66        #6  (3/8 OD) MS-806       100

CDU03        #10  (9/16 OD)           100 CDS88        #8  (7/16 OD)MS-841       100

CDU21        12 100 CDS03        #10 (7/16OD)AN-C10L      100

CDU04        1/4 (5/8 OD)             100 CDS04        1/4 (1/2OD)AN-C416L     100

CDU05        5/16 (3/4 OD)            100 CDS04X       1/4 X 9/16  SAE FLAT W      100

CDU05THK     5/16  (.064-.104)        100 CDS05        5/16(11/16OD)MS-812       100

CDU05X       5/16  (7/8 OD)           100 CDS05LDX     5/16 X 9/16OD X.055       500



CDU06        3/8 (7/8 OD)             100 CDS06        3/8  (.812OD)MS-814       100

CDU06LXTHK   3/8 X 1OD X 1/8THK      100 CDS07        7/16 (.921OD)MS-816       100

CDU07        7/16 (1 1/8 OD)          100 CDS08        1/2 (1.062OD)MS-818       100

CDU08        1/2 (1 1/4 OD)           100 CDS0812X     1/2 X 3/4 X 1/16          100

CDU08L       1/2 X 1 3/8OD MS819      100 CDS09        9/16 (1.062OD)AN916       50

CDU09        9/16 (1 3/8 OD)          50 CDS10        5/8 (1.312OD)MS-820       50

CDU10        5/8 (1 1/2 OD)           50 CDS12        3/4 (1.50 OD)MS-822       50

CDU12        3/4 (1 7/8 OD)           50 CDS14        7/8 (1.75OD) MS-824       25

CDU14        7/8 (2 OD)              25 CDS14SX      7/8 X 1 X 1/16 ST/ST      25

CDU16        1  (2 1/2OD)           25 CDS16X       1 (2OD)            25

CDU18        1 1/8                    25

CDU20        1 1/4                    25

CDU24X       1 1/2                    10 FENDER WASHER
CDU32        2 10 304 STAINLESS STEEL

Part number Description Pack

SAE FLAT WASHER ASJ88        #8 (5/32) X 3/4 OD    100

304 STAINLESS STEEL ASJ03        #10 X 1 O.D.       100

ASJ04032     1/4 X 1 O.D.       100

Part number Description Pack ASJ04        1/4 X 1 1/4 O.D.   100

CDS22        #2        100 ASJ04048     1/4 X 1 1/2           100

CDS33X       #3       100 ASJ05040     5/16 X 1 1/4 O.D.     100

CDS44        #4 (5/16OD)  MS-804       100 ASJ05        5/16 X 1 1/2 O.D.  100

CDS55        #5      100 ASJ06040     3/8 X 1 1/4 O.D.   100

REGULAR SPLIT LOCKWASHER ASJ06        3/8 X 1 1/2 O.D.   100

304 STAINLESS STEEL ASJ08        1/2 X 2 O.D.       100

(cont.) ASJ08THK     1/2 X 2OD .125THK  50

Part number Description Pack

BMA66        #6                     100

BMA88        #8                     100 REGULAR SPLIT LOCKWASHER
BMA03        #10                     100 304 STAINLESS STEEL
BMA21X       #12                    100

BMA04        1/4                    100 Part number Description Pack

BMA05        5/16                   100 BMA22        #2                     100

BMA06        3/8                    100 BMA44        #4                     100

BMA07        7/16                   100 BMA55        #5                     100

BMA08        1/2                    100 INTERNAL LOCKWASHER
BMA09X       9/16                   50 STAINLESS STEEL
BMA10        5/8                    50 (cont.)

BMA12        3/4                    25 Part number Description Pack

BMA14        7/8                    25 BKA06        3/8                         100

BMA16        1                     25 BKA07        7/16                        100

BMA18        1 1/8                  25 BKA08        1/2                         100

BMA20        1 1/4                  25 BKA10X       5/8                         50

BKA12X       3/4                         50

BKA16        1                          25

HI-COLLAR LOCKWASHER
304 STAINLESS STEEL



EXTERNAL LOCKWASHER
Part number Description Pack STAINLESS STEEL
JPJ03X       #10                     100

JPJ04X       1/4                     100 Part number Description Pack

JPJ05        5/16                    100 BLA22X       #2                           100

JPJ06X       3/8                     100 BLA44        #4                           100

JPJ08X       1/2                     100 BLA55        #5                           100

JPJ10        5/8                     50 BLA66        #6                           100

BLA88        #8                           100

BLA03        #10                          100

INTERNAL LOCKWASHER BLA04        1/4                          100

STAINLESS STEEL BLA05        5/16                         100

BLA06        3/8                          100

Part number Description Pack BLA07        7/16                         100

BKA33X       #3                          100 BLA08        1/2                          100

BKA44        #4                          100 BLA10X       5/8                          50

BKA55        #5                          100 BLA12X       3/4                          50

BKA66        #6                          100

BKA88        #8                          100

BKA03        #10                         100 FINISHING WASHER
BKA21        #12                         100 304 STAINLESS STEEL
BKA04        1/4                         100

BKA05        5/16                        100 Part number Description Pack

USS FLAT WASHER BYA03        #10                          100

316 STAINLESS STEEL BYA03BLK     #10 (BLACK FINISH)             100

BYA04        #14                          100

Part number Description Pack BYA05        5/16                         100

BNA66        #6                       100 BYA21X       #12                          100

BNA88        #8                       100 BYA66        #6                           100

BNA03        #10                      100 BYA88        #8                           100

BNA04        1/4  (5/8OD)             100

BNA05        5/16 (3/4OD)             100

BNA06        3/8  (7/8OD)             100

BNA07        7/16                     100

BNA08        1/2                      100

BNA09        9/16                     50 SAE FLAT WASHER
BNA10        5/8                      50 BRASS
BNA12        3/4                      50 (cont.)

BNA14        7/8                      25 Part number Description Pack

BNA16        1                      25 CEU33        #3                         100

BNA18        1 1/8                    25 CEU44        #4                         100

BNA20        1 1/4                    10 CEU55        #5                         100

BNA24        1 1/2                    10 CEU66        #6  (.312 OD)              100

CEU88        #8  (.375 OD)              100

CEU03        #10  (.437 OD)             100

REGULAR SPLIT LOCKWASHER CEU21        #12  (.500 OD)             100

316 STAINLESS STEEL CEU04        1/4  (.562 OD)             100

CEU05        5/16  (.750 OD)            100



Part number Description Pack CEU06        3/8  (.875 OD)             100

BTA66        #6                   100 CEU08        1/2  (1 1/4 OD)            100

BTA88        #8                   100 CEU10        5/8  (1 1/2 OD)            50

BTA03        #10                  100 CEU12        3/4  (1 7/8 OD)            50

BTA04        1/4                  100

BTA05        5/16                 100

BTA06        3/8                  100 USS FLAT WASHER
BTA07        7/16                 100 BRASS
BTA08        1/2                  100

BTA10        5/8                  50 Part number Description Pack

BTA12        3/4                  25 CES04L#1     #16 .282ID X 3/4 OD        1

BTA14        7/8                  25 CES20L#1     .337 X 7/8 OD              1

BTA16        1                   25 CES24        1 1/2                    1

BTA18        1 1/8                25 CES66        #6  (.375 OD)              100

BTA20X       1 1/4                10 CES88        #8  (.437 OD)              100

CES03        #10  (.500 OD)             100

CES03#1      #10                        1

SAE FLAT WASHER CES21        #12 (.562 OD)              100

BRASS CES04        1/4  (.687 OD)             100

CES05        5/16  (.875 OD)            100

Part number Description Pack CES06        3/8  (1 OD)               100

CEU22        #2                         100 CES07        7/16                       100

FLAT WASHER CES08        1/2  (1 3/8 OD)            100

SILICON BRONZE CES10        5/8  (1 3/4 OD)            50

(cont.) CES12        3/4  (2 OD)               50

Part number Description Pack CES14        7/8 25

BRA88        #8                           100 CES16        1                         25

BRA03        #10                          100

BRA21        #12                          100

BRA04        1/4                          100 FLAT WASHER
BRA05        5/16                         100 SILICON BRONZE
BRA06        3/8                          100

BRA07        7/16                         100 Part number Description Pack

BRA08        1/2                          100 BRA66        #6                           100

BRA10        5/8                          50 FLAT WASHER
BRA12        3/4                          50 NYLON

(cont.)

Part number Description Pack

REGULAR SPLIT LOCKWASHER BWA08        1/2 X 1 3/8 X 1/8             100

SILICON BRONZE BWA08024     1/2 X 3/4 X 1/16              100

Part number Description Pack

BSA44        #4                 100 FLAT WASHER

BSA66        #6                 100 ALUMINUM

BSA88        #8                 100

BSA03        #10                100 Part number Description Pack

BSA21X       #12                100 BVA66        #6                            100

BSA04        1/4                100 BVA88        #8                            100



BSA05        5/16               100 BVA03        #10                           100

BSA06        3/8                100 BVA04        1/4                           100

BSA07        7/16               100 BVA05        5/16                          100

BSA08        1/2                100 BVA06        3/8                           100

BSA10        5/8                50 BVA08        1/2                           100

BSA12        3/4                50 BVA10        5/8                           50

BVA12        3/4                           25

FLAT WASHER
NYLON REGULAR SPLIT LOCKWASHER

ALUMINUM
Part number Description Pack

BWA66        #6                            100 Part number Description Pack

BWA88        #8                            100 BUA03        #10                       100

BWA03        #10                           100 BUA04        1/4                       100

BWA21        #12                           100 BUA05        5/16                      100

BWA04        1/4                           100 BUA06        3/8                       100

BWA04036     1/4 X 1 1/8OD/.035TH          100 BUA08        1/2                       100

BWA05        5/16                          100 BUA10        5/8               50

BWA06        3/8                           100

BWA06028THK  3/8 X 7/8 X 3/8               100

FLAT WASHER 10.9 DIN 125A HEAVY DUTY FLAT WASHER DIN 125B
YELLOW ZINC - HARDENED ZINC PLATED
(cont.)

Part number Description Pack Part number Description Pack

ABK10        M10 200HV   100 ABE06        M6                  100

ABK12        M12 200HV   100 ABE07        M7                  100

ABK14X       M14 200HV   50 ABE08        M8                  100

ABK16        M16 200HV   50 ABE10        M10                 100

ABK18        M18 200HV   25 ABE12        M12                 100

ABK20X       M20 200HV   25 ABE16        M16                 100

ABK24        M24 200HV   50 ABE18X       M18                 50

ABE24        M24                 25

ABE30        M30                 25

FLAY WASHER DIN 125A ABE36        M36                 25

ZINC PLATED

Part number Description Pack FLAT WASHER 10.9 DIN 125A
BUC02        M2                  100 YELLOW ZINC - HARDENED

BUC025       M2.5                100

BUC03        M3                  100 Part number Description Pack

BUC04        M4                  100 ABK05        M5 200HV   100

BUC05        M5                  100 ABK06        M6 200HV   100

BUC06        M6                  100 ABK08        M8 200HV   100

BUC07        M7                  100 SPLIT LOCKWASHER DIN 127B
BUC08        M8                  100 ZINC PLATED

BUC10        M10                 100 (cont.)



BUC12        M12                 100 Part number Description Pack

BUC14        M14                 100 BWC10        M10                 100

BUC16        M16                 100 BWC12        M12                 100

BUC18X       M18                 50 BWC14X       M14                 100

BUC20        M20                 50 BWC16        M16                 100

BUC24        M24                 25 BWC18X       M18                 50

BUC30        M30                 25 BWC20        M20                 50

BWC22        M22                 100

BWC24        M24                 50

SPLIT LOCKWASHER DIN 127B BWC30        M30                 25

ZINC PLATED

Part number Description Pack EXTERNAL TOOTH LOCKWASHER
BWC02        M2                  100 DIN 6797A - ZINC PLATED

BWC025       M2.5                100

BWC03        M3                  100 Part number Description Pack

BWC04        M4                  100 BXC02        M2                    100

BWC05        M5                  100 BXC03        M3                    100

BWC06        M6                  100 BXC04        M4                    100

BWC07        M7                  100 BXC05        M5                    100

BWC08        M8                  100 BXC06        M6                    100

SPRING WAVE WASHER BXC07        M7                    100

DIN 137B - ZINC PLATED BXC08        M8                    100

BXC10        M10                   100

Part number Description Pack BXC12        M12                   100

BVC03        M3                    100 BXC16        M16                   100

BVC04        M4                    100

BVC05        M5                    100

BVC06        M6                    100 INTERNAL LOCKWASHER
BVC07        M7                    100 DIN 6797J - ZINC PLATED

BVC08        M8                    100

BVC10        M10                   100 Part number Description Pack

BVC12        M12                   100 BYC03        M3                    100

BVC14        M14                   100 BYC04        M4                    100

BVC16        M16                   50 BYC05        M5                    100

BVC20        M20                   50 BYC06        M6                    100

BYC07        M7                    100

SPLIT LOCK WASHER DIN 127B BYC08        M8                    100

A2 - 304 STAINLESS STEEL BYC10        M10                   100

(cont.) BYC12        M12                   100

Part number Description Pack BYC16        M16                   100

BST08        M8                 100

BST10        M10                100 FLAT WASHER DIN 125A
BST12        M12                100 A2 - 304 STAINLESS STEEL
BST14        M14                100

BST16        M16                100 Part number Description Pack

BST20        M20                50 BSM03        M3                  100

BST22        M22                50 BSM04        M4                  100



BST24        M24                50 BSM05        M5                  100

BST30        M30                50 BSM06        M6                  100

BSM07        M7                  100

BSM08        M8                  100

SPLIT LOCK WASHER DIN 127B BSM10        M10                 100

A2 - 304 STAINLESS STEEL BSM12        M12                 100

BSM14        M14                 100

Part number Description Pack BSM16        M16                 100

BST02        M2                 100 BSM24        M24 DIN125A 25

BST03        M3                 100 BSM30        M30 DIN125A 25

BST04        M4                 100

BST05        M5                 100

BST06        M6                 100

BST06HC      M6 HI-COLLAR       100

BST07        M7                 100


